20205 ELER—KBEFVIMI—ILKS

= #1 7R25H(X)~26H(H)
2 15 LETREXLHEBE BHNILEVINR—ILE

7A258 (1) HEAG 0 ORG B
©)
HHHEHIST = R @ ® DCIFERSST -}
A—2 B—2
J—E—X =3 ® r @ B@v37 2 W

A—1  |EBFKIB WLE 5:5 ®EHHEHY)ST = E| |B-1 T—E—X & 10: 0 |B&H57 g W

A—2 |J—F—X L=y 1:13 HEHEIST = &l [B—2 DCIRBYIST = 9:1 BH&Y3I g W
B—3 DCIIRFEYST a8 1:9 HEHKEG BHELEB

F—L& ey Tl | BAR|EA| B | AAE |EE IERL R
N
3 1z vl PAN
R kot G Tt T B B T WA L2, 812D S LTS,
@312 RO LE L, SR DDA AL,
895 = 5 1819 1 6 9 0.667 ~ N
RBER5T R B15 8 2 RO S T AR - S ]
ey N B =" ‘ﬁ : \ 70
S_p—x = - 11l1al 8 | 1625 | 4 ORARPFRROLET, FHRAEDZVIALT S

O R BENFEIE D LEITHRLT D,

B@EY37 & uw 28 5

I

DCIIRREYST TH 1R 10| 10| 11 | 0.909 3

N
1l

7R26R8(R) BERES (Eh2F7—L)

BEAT RLEE s B
— R A1
2

RHHEIST = R



-
-9
—
F——

P .
=
AL a /a s i IUC.

MWl

\\}

.QSW i
e
253 ~co—==
B | ) | —
- ——— e
N
— = ~

\\

Y

- Nl
\\{

Bl BMEEH



